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So the new quadratic is:
x?+4x- 1
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How to check this on your own?

1) From wolframalpha website:

just type 2x> - 8x—-1 =10

and it will find the solutions to 2x> —8x— 1 = 0,
a=3J2+2,=2-22

The same for:

Solutions to x? + 4x— £ = 0 are: %ﬁ -2, -3/2-2

Then check the relation between the roots (also in wolframalpha type just the

numbers, here the sum):
3

y:a+% = 7ﬁ+2+ﬁ = — 22 -2 which is the same as the root of the new
2

quadratic.
Similarly forthe 6 = p++ =2- 32 + ﬁ = 2 /2 -2 which is the same as the
2

other root of new quadratic.



